
A

1

2

4

5

B

A

B

1

4
3

5

Service Parts Reference 3

5

6

8

9

10

6

8

9

10

1581

8

Neck Assembly 1581-X-700 Adamas II, 6-String, Neck Assembly, 
deep cutaway

Machine Heads 850020-X-17  Machine Head Set 6-String Gold, 
Schaller M6Ga with Pin

Truss Rod Cover N/A None
String Nut 930015-X Bone Nut - 6 String         
Fret Set 950090-X Fret Wire - Coiled 16” I.D.

Top & Bowl Assembly 1581-X-200 Adamas Unidirectional Textured Top & 
Bowl Assembly, deep c/a

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 800720-X Epaulette Assembly, Adamas Cutaway
Pre-amp Receptacle N/A N/A

Pre-amp/Jack 708936-X TKS Preamp (Two Knob Stereo FET 
- Amp) w/ Battery Box & Washer

Bridge 810331-X Bridge, Adamas II, 6-String Walnut
Pickup Assy/
Saddle Only

702100-X 
700714-X-19 Saddle One-piece A/E Classic   

Battery Cover 700342-X-00 Cover, Battery Box
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 500601-X-11     Screw (SEMS)-1/4-20 X 7/8-Hex
Neck Bolt, Upper Neck 
Support Block N/A N/A

2



	 Model Specifications
1581

Bowl Bowl - Mid Depth Cutaway, K-Bar
Bowl Paint Color Black Textured
Brace Pattern Brace Set - Adamas Cutaway       
Fingerboard Radius 10’’
Inlay Material & Pattern Adamas II Impregnated Maple Inlays - Large
Neck Construction 5 Piece
Neck Finish Gloss
Neck Reinforcement Kaman Bar, Deep Heel       
Neck Shape Traditional Adamas, Soft V
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree

Pre-amp TKS Preamp (Two Knob Stereo FET - Amp) 
w/ Battery Box & Washer

Rosette / Epaulets Epaulette Assembly, Adamas Cutaway
Scale Length 25 1/4”

Top Material & Grade Adamas Uni Directional Textured, Birch Core, 
Top Blank

Truss Rod Adjustment Location Neck Tenon



A

1

4

5

B

A

B

1

4

3

5

2

Service Parts Reference 3

5

6

8
9

10

6
7
8

9

10

1597

8

Neck Assembly 1597-X-700 Adamas SMT Neck Assembly, 
mid depth

Machine Heads 850470-X-17    
   

Machine Head Set - Gold w/ 
Pearl Buttons w/ Ovation Logo

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930061-X      String Nut - Tusq - 6 String     

Fret Set 1998-X-690A 22 Standard Notched Fret Set, 
Elite 6-String

Top & Bowl Assembly 1597-X-200 Adamas SMT Top & Bowl 
Assembly, mid depth

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 800580-X       Epaulette Assembly, Cutaway
Pre-amp Receptacle 708900-X-CAN OP-50 1/4” Jack Can
Pre-amp 708900-X     OP-50 Preamp Assembly

Bridge 811151-X    Bridge - Full Size - Ebony, No 
Slot 6-String 

Pickup Assy/
Saddle Only

704600-X  
700714-X-19 Saddle One-piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm

Neck Bolt, Neck Heel 547601-X-00 Screw, Cap - 1/4-20 X 1-5/16   

Neck Bolt, Upper Neck 
Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

7

2

6



	 Model Specifications
1597

Bowl Bowl - Mid Depth Cutaway, K-Bar
Bowl Paint Color Black Textured
Brace Pattern Brace Set - Adamas Cutaway       
Fingerboard Radius 10’’
Inlay Material & Pattern Adamas II Impregnated Maple Inlays - Large
Neck Construction 5 Piece
Neck Finish Gloss
Neck Reinforcement Kaman Bar, Deep Heel       
Neck Shape Traditional Adamas, Soft V
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree

Pre-amp TKS Preamp (Two Knob Stereo FET - Amp) 
w/ Battery Box & Washer

Rosette / Epaulets Epaulette Assembly, Adamas Cutaway
Scale Length 25 1/4”

Top Material & Grade Adamas Uni Directional Textured, Birch 
Core, Top Blank

Truss Rod Adjustment Location Neck Tenon



A

1

4

5

B

A

B

1

4

3

5

2

Service Parts Reference 3

5

6

8

9

10

6
7
8

9

10

1597-VIP

8

Neck Assembly 1597-X-700 Adamas SMT Neck Assembly, mid 
depth

Machine Heads 850470-X-17      Machine Head Set - Gold w/ Pearl 
Buttons w/ Ovation Logo

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 1998-X-690A 22 Standard Notched Fret Set, Elite 
6-String

Top & Bowl Assembly 1597-X-200 Adamas SMT Top & Bowl Assembly, 
mid depth

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 800580-X       Epaulette Assembly, Cutaway
Pre-amp Receptacle 70939-X-CAN VIP 1/4” Jack with XLR Can
Pre-amp 708939-X VIP Preamp Module, Complete

Bridge 811151-X  Bridge - Full Size - Ebony, No Slot 
6-String 

Pickup Assy/
Saddle Only

704600-X  
700714-X-19 Saddle One-piece A/E Classic 

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper Neck 
Support Block 547602-X-00     Screw, Cap - 1/4-20 X 3/4     

7

2

6



	 Model Specifications
1597-VIP

Bowl Bowl - Mid Depth Cutaway, ANS, Light Weight, No 
Window

Bowl Paint Color Black Textured
Brace Pattern Brace Set - Adamas Cutaway       
Fingerboard Radius 10’’
Inlay Material & Pattern None
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint 
Location 14th Fret

Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pre-amp VIP Preamp Module, Complete
Rosette / Epaulets Epaulette Assembly, Cutaway
Scale Length 25 1/4”

Top Material & Grade Adamas Uni Directional Smooth, Birch Core, Top Blank, 
From Adamas Cost Sheets     

Truss Rod Adjustment 
Location Headstock



A

1

4

5

B

A

B

1

4

3

5

2

Service Parts Reference 3

5

6

8

9

10

6
7
8

9

10

1598

8

Neck Assembly 1598-X-700 Adamas 12-String SMT Neck 
Assembly, mid depth

Machine Heads 850480-X-17    Machine Head Set, 12 String - 
Minis - Gold w/ Pearl Buttons

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930062-X       String Nut - Tusq - 12 String        

Fret Set 1858-X-690B 22 Standard Notched Fret Set, 
Elite 12-String

Top & Bowl Assembly 1598-X-200 Adamas 12-String SMT Top & 
Bowl Assembly, mid depth

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 800580-X       Epaulette Assembly, Cutaway
Pre-amp Receptacle 708900-X-CAN OP-50 1/4” Jack Can
Pre-amp 708900-X       OP-50 Preamp Assembly

Bridge 811161-X    Bridge - Full Size - Ebony, No 
Slot 12-String 

Pickup Assy/
Saddle Only

704600-X  
700714-X-19 Saddle One-piece A/E Classic 

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm

Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   

Neck Bolt, Upper Neck 
Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

7

2

6



	 Model Specifications
1598

Bowl Bowl - Mid Depth Cutaway, ANS, Light Weight, No 
Window

Bowl Paint Color Black Textured
Brace Pattern Brace Set - Adamas Cutaway       
Fingerboard Radius 10’’
Inlay Material & Pattern None
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 7/8”
Peg head Angle 10 Degree
Pre-amp OP-50 Preamp Assembly
Rosette / Epaulets Epaulette Assembly, Cutaway
Scale Length 25 1/4”

Top Material & Grade Adamas Uni Directional Smooth, Birch Core, Top 
Blank, From Adamas Cost Sheets     

Truss Rod Adjustment Location Headstock



A

1

4

5

B

A

B

1

4

3

5

2

Service Parts Reference 3

5

8
9

10

6
7
8

9

10

1598-VIP

8

Neck Assembly 1598-X-700 Adamas 12-String SMT Neck 
Assembly, mid depth

Machine Heads 850480-X-17    Machine Head Set, 12 String - 
Minis - Gold w/ Pearl Buttons

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930062-X       String Nut - Tusq - 12 String        

Fret Set 1858-X-690B 22 Standard Notched Fret Set, 
Elite 12-String

Top & Bowl Assembly 1598-X-200 Adamas 12-String SMT Top & Bowl 
Assembly, mid depth

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 800580-X       Epaulette Assembly, Cutaway
Pre-amp Receptacle 70939-X-CAN VIP 1/4” Jack with XLR Can
Pre-amp 708939-X VIP Preamp Module, Complete

Bridge 811161-X    Bridge - Full Size - Ebony, No Slot 
12-String 

Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-piece A/E Classic   

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

7

2

6



	 Model Specifications
1598-VIP

Bowl Bowl - Mid Depth Cutaway, ANS, Light Weight, No 
Window

Bowl Paint Color Black Textured
Brace Pattern Brace Set - Adamas Cutaway       
Fingerboard Radius 10’’
Inlay Material & Pattern None
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 7/8”
Peg head Angle 10 Degree
Pre-amp VIP Preamp Module, Complete
Rosette / Epaulets Epaulette Assembly, Cutaway
Scale Length 25 1/4”

Top Material & Grade Adamas Uni Directional Smooth, Birch Core, Top 
Blank

Truss Rod Adjustment Location Headstock



A

1

4

5

B

A

B

1

4

3

5

2

Service Parts Reference
3

5

6

8

9

10

6

8

9

10

1618

8

Neck Assembly 1618-X-701 Glen Campbell Slot Head Neck, 12-String 
Deep

Machine Heads 850528-X-17 Machine Head Set - Side Mount Mini, 
Gold w/ Small Acrylic Buttons, Schaller

Truss Rod Cover 940012-X-00 Truss Rod Cover, Black Plastic w/ Glen 
Campbell

String Nut 930020-X    Bone Nut - 12 String       

Fret Set 117-X-690B 20 Standard Notched Fret Set, Center 
Sound Hole 6-String

Top & Bowl 
Assembly 1618-X-200 Glen Campbell 12-String Fiberglass Top 

& Bowl deep
Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold

Rosette / Epaulets 800012-X       Rosette Casing - Large Hot Stamped Oak 
Leaf  

Pre-amp Receptacle N/A N/A

Pre-amp 708935-X SKM Preamp (Single Knob Mono FET) w/ 
Battery Box & Washer

Bridge 811111-X    Bridge Detail, 12-String No Slot, Walnut

Pickup Assy/
Saddle Only

704600-X  
700714-X-19 Saddle One-piece A/E Classic  

Battery Cover 700342-X-00 Cover, Battery Box
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck 
Heel N/A None

2



	 Model Specifications
1618

Bowl Bowl - Deep Non Cutaway Fiberglass
Bowl Paint Color Brown Textured
Brace Pattern Brace Set, Model 1618
Fingerboard Radius 10’’

Fret Number & Size 20 Standard Notched Fret Set, Center Sound 
Hole 12-String

Inlay Material & Pattern Inlay - Round Poly Iridescent, Large
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Traditional Series
Neck To Body Joint Location 12th Fret
Neck Width At Nut 1 7/8”
Peg head Angle 7 Degree

Pre-amp SKM Preamp (Single Knob Mono FET) w/ 
Battery Box & Washer

Rosette / Epaulets Rosette Casing - Large Hot Stamped Oak 
Leaf  

Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “AAA”
Truss Rod Adjustment Location Headstock



A

1

4

5

B

A

B

1

4

3

5

2

Service Parts Reference 3

5

6

8

9

10

6

8

9

10

1627

8

Neck Assembly 1627-X-700 Glen Campbell Neck Assembly, old style 
shallow

Machine Heads 850020-X-17    Machine Head Set 6-String Gold, 
Schaller M6Ga with Pin

Truss Rod Cover 940012-X-00 Truss Rod Cover, Black Plastic w/ Glen 
Campbell

String Nut 930015-X   Bone Nut - 6 String         

Fret Set 117-X-690B 20 Standard Notched Center Sound 
Hole 6-String

Top & Bowl 
Assembly 1627-X-200 Glen Campbell Top & Bowl Assembly, 

fiberglass old style shallow
Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold

Rosette / Epaulets 800012-X       Rosette Casing - Large Hot Stamped 
Oak Leaf  

Pre-amp Receptacle N/A N/A

Pre-amp 708935-X SKM Preamp (Single Knob Mono FET) 
w/ Battery Box & Washer

Bridge 810601-X    Bridge Detail - 6-String Balladeer, No 
Slot, Long, Walnut

Pickup Assy/
Saddle Only

704600-X  
700714-X-19 Saddle One-piece A/E Classic  

Battery Cover 700342-X-00 Cover, Battery Box
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel N/A None
Neck Bolt, Upper 
Neck Support Block N/A None

2



	 Model Specifications
1627

Bowl Bowl - Deep Non Cutaway Fiberglass
Bowl Paint Color Brown Textured
Brace Pattern Brace Set, A, Non-Cutaway
Fingerboard Radius 10’’

Fret Number & Size
20 Standard Notched Fret Set, Center Sound 
Hole 6-String

Inlay Material & Pattern Inlay - Round Poly Iridescent, Large
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Traditional Series
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree

Pre-amp
SKM Preamp (Single Knob Mono FET) w/ Battery 
Box & Washer

Rosette / Epaulets Rosette Casing - Large Hot Stamped Oak Leaf  
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “AAA”
Truss Rod Adjustment Location Headstock



A

1

2

4

5

B

A

B

1

4

3

5

2

3

5

6
7

8

9

10

6

7
8

9

10

8

Service Parts Reference
1680-NWT

Neck Assembly 1680-X-700 Adamas Slot Head 1 3/4” Neck 
Assembly, deep non cutaway

Machine Heads 850390-X-17    Machine Head Set - Side Mount, 
Gold w/ Ebony Buttons, Schaller

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 940527-X-15 String Nut, Black, Tusq, 1 3/4”

Fret Set 1998-X-690A 22 Standard Notched Fret Set, 
Elite 6-String

Top & Bowl Assembly 1680-X-200 Adamas 2 * 2 Twill, Walnut 
Epaulette, deep non-cutaway

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold

Rosette / Epaulets 910322-X Epaulette Set, Non-cutaway, 
Walnut

Pre-amp Receptacle 708942-X VIP Receptacle Assembly
Pre-amp/Output Jack 708939-X VIP Preamp Module, Complete

Bridge 811151-X    Bridge - Full Size - Ebony, No 
Slot 6-String 

Pickup Assy/
Saddle Only

704600-X-00 
700714-X-19 Saddle-one Piece-a/e-classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel N/A N/A
Neck Bolt, Upper Neck 
Support Block N/A N/A

6



Model Specifications
1680-NWT

Bowl Bowl - Deep Non Cutaway, K-Bar, Light Weight, No Window
Bowl Paint Color Black Textured
Brace Pattern Quintad
Fingerboard Radius 10’’
Inlay Material & Pattern Inlay - Adamas I Fingerboard, MOP, Large
Neck Construction 2 Piece
Neck Finish Satin Urethane Neck/Gloss Peghead Face
Neck Reinforcement Dual Acting Truss Rod, Classic Length
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint 
Location 12th Fret

Neck Width At Nut 1 3/4”
Peg head Angle 7 Degree
Pre-amp VIP Preamp Module, Complete
Rosette / Epaulets Epaulette Set, Non-cutaway, Walnut
Scale Length 25 1/4”

Top Material & Grade Adamas 2 * 2 Twill, Textured, Plywood Core, Top Blank 
From Adamas Cost Sheets              

Truss Rod Adjustment 
Location Headstock



A

1

4

5

B

A

B

1

4
3

5

Service Parts Reference
3

5

6

8

9

10

6

8

9

10

1687

8

Neck Assembly 1687-X-700 Adamas I, 6-String, Neck 
Assembly, deep non cutaway

Machine Heads 850020-X-17    Machine Head Set 6-String Gold, 
Schaller M6Ga with Pin

Truss Rod Cover N/A None
String Nut 930015-X    Bone Nut - 6 String         
Fret Set 950090-X    Fret Wire - Coiled 16” I.D.

Top & Bowl Assembly 1687-X-200 Adamas Unidirectional Textured 
Top & Bowl Assembly, deep

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold

Rosette / Epaulets 800290-X Epaulette Assembly, Adamas Non-
Cutaway, Paduk Tipped

Pre-amp Receptacle N/A N/A

Pre-amp/Output Jack 708936-X
TKS Preamp (Two Knob Stereo 
FET - Amp) w/ Battery Box & 
Washer

Bridge 810254-X      Bridge, Adamas I, 6-String Walnut

Pickup Assy/
Saddle Only

702100-X  
700714-X-19

(Stereo)
Saddle One-piece A/E Classic  

Battery Cover 700342-X-00 Cover, Battery Box
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm

Neck Bolt, Neck Heel 500601-X-11    Screw (SEMS)-1/4-20 X 7/8-Hex

Neck Bolt, Upper Neck 
Support Block N/A None

6



	 Model Specifications
1687

Bowl Bowl - Deep Non Cutaway, K-Bar, No Window
Bowl Paint Color Black Textured
Brace Pattern Brace Set - Adamas Non Cutaway     
Fingerboard Radius 10’’
Inlay Material & Pattern Adamas I Impregnated Maple Inlays - Large
Neck Construction Two Piece
Neck Finish Satin
Neck Reinforcement Kaman Bar, Deep Heel       
Neck Shape Traditional Adamas, Soft V
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree

Pre-amp TKS Preamp (Two Knob Stereo FET - Amp) w/ 
Battery Box & Washer

Rosette / Epaulets Epaulette Assenbly, Adamas Non-Cutaway, Paduk 
Tipped

Scale Length 25 1/4”

Top Material & Grade Adamas Uni Directional Textured, Birch Core, Top 
Blank

Truss Rod Adjustment Location Neck Tenon



A

1

4

5

B

A

B

1

4
3

5

3

5

67

8

9

10

6

7

8

9

10

8

Service Parts Reference
1769-ADII

Neck Assembly 1769ADII-X-700 Al DiMeola II Neck Assembly, deep

Machine Heads 850470-X-17    Machine Head Set - Gold w/ Pearl 
Buttons w/ Ovation Logo

Truss Rod Cover None
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 117-X-690B 20 Standard Notched Fret Set, 
Center Sound Hole 6-String

Top & Bowl 
Assembly 1769ADII-X-200 Al DiMeola II Top & Bowl Assembly, 

deep cutaway
Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold

Rosette / Epaulets 801292-X       Rosette - Acrylic Inlaid Abalone Oak 
Leaf 

Pre-amp Receptacle 708924-X-CAN OP-PRO 1/4” Jack with XLR Can

Pre-amp 708924-A       OP-PRO Preamp Assembly w/ 1/4” 
Jack & XLR

Bridge 811121-X   Bridge - Carved - Ebony, 6 String
Pickup Assy/
Saddle Only

702100-X  
700714-X-19 Saddle One-piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck 
Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   

Neck Bolt, Upper 
Neck Support Block 547602-A-00    Screw, Cap - 1/4-20 X 3/4     

8



Model Specifications
1769-ADII

Bowl Bowl - Deep Cutaway, K-Bar, No Window, Al Di 
Meola  

Bowl Paint Color Black Textured
Brace Pattern Brace Set - A, Cutaway  
Fingerboard Radius 10’’
Inlay Material & Pattern Inlay - Round, Abalone, Large
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Kaman Bar, Deep Heel       
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pre-amp OP-PRO Preamp Assembly w/ 1/4” Jack & XLR
Rosette / Epaulets Rosette - Acrylic Inlaid Abalone Oak Leaf 
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “AAA”
Truss Rod Adjustment Location Neck Tenon



A

1

2

4

5

B

A

B

1

4

3

5

2

3

5

6
7

8

9

10

6
7

8

9

10

8

Service Parts Reference
1771LX

Neck Assembly 1771LX-X-700 Standard Balladeer LX Neck 
Assembly, mid depth

Machine Heads 850310-X-15    Machine Head Set- Chrome w/ 
Ovation Logo 

Truss Rod Cover 910294-X Truss Rod Cover - Rosewood
String Nut 930061-X       String Nut - Tusq - 6 String     

   Fret Number & Size 117-X-690B 20 Standard Notched Fret Set,       
Center Sound Hole 6-String

Top & Bowl Assembly 1771LX-X-200 Standard Balladeer LX Top & 
Bowl Assembly, mid depth

Strap Knob 950072-X-13 Strap Lock - Dual Design, 
Nickel

Rosette / Epaulets 801386-X       Rosette - Acrylic Inlaid Oakleaf     
Pre-amp Receptacle 708922-X-CAN OP-PRO 1/4” Jack Can

Pre-amp 708922-X       OP-PRO Preamp Assembly w/ 
1/4” Jack

Bridge 811811-X  Bridge - Short - Rosewood, No 
Slot 6 String

Pickup Assy/
Saddle Only

704600-X  
700714-X-19 Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper Neck 
Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     



Model Specifications
1771LX

Bowl Bowl - Mid Depth Cutaway, ANS, Light Weight, No 
Window

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’

Fret Number & Size 20 Standard Notched Fret Set, Center Sound Hole 
6-String

Inlay Material & Pattern Inlay - Dot, Polyester MOP #1 Alante       
Neck Construction 5 Piece
Neck Finish Satin Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pre-amp OP-PRO Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets Rosette - Acrylic Inlaid Oakleaf     
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “A” Grade
Truss Rod Adjustment Location Headstock



A

1

2

4

5

B

A

B

1

4

3

5

2

3

5

6
7

8

9

10

6

7

8

9

10

8

Service Parts Reference
1773LX

Neck Assembly 1773LX-X-700 Classic LX Neck Assembly, mid 
depth

Machine Heads 850526-X-17 Side Mount, Gold w/ Ebony Buttons 
& Bushing, Schaller

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 940540-X Tusq Nut, 1 7/8” Ivory

Fret Set 1773-X-690A
19 Standard Notched Fret Set, Clas-
sic 6-String

Top & Bowl Assembly 1773LX-X-200 Classic LX Top & Bowl Assembly, 
mid depth

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold

Rosette / Epaulets 801270-X       Rosette - Acrylic Inlaid Polyester 
MOP Oak Leaf 

Pre-amp Receptacle 708943-X-CAN OP-PRO Studio 1/4” Jack Can

Pre-amp 708943-X OP-PRO Studio Preamp Assembly 
w/ 1/4” Jack

Bridge 811761-X    Bridge - Short - Ebony, No Slot 6-
String

Pickup Assy/
Saddle Only

703700-X 
700715-X-19 Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper Neck 
Support Block 547602-AX-00    Screw, Cap - 1/4-20 X 3/4     



Model Specifications
1773LX

Bowl Bowl - Mid Depth Cutaway, ANS, Light Weight, 
No Window

Bowl Paint Color Black Textured
Brace Pattern Classic
Fingerboard Radius 0”
Fret Number & Size 19 Standard Notched Fret Set, Classic 6-String
Inlay Material & Pattern None
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Dual Acting Truss Rod, Classic Length
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 12th Fret
Neck Width At Nut 1 7/8”
Peg head Angle 7 Degree
Pre-amp OP-PRO Studio Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets Rosette - Acrylic Inlaid Polyester MOP Oak Leaf 
Scale Length 26 3/16”
Top Material & Grade Bookset - Cedar (Matched)       
Truss Rod Adjustment Location Headstock



A

1

2

4

5

B

A

B

1

4

3

5

2

3

5

67

8

9

10

6

7

8

9

10

8

Service Parts Reference
1777LX

Neck Assembly 1777LX-X-700 Legend LX Neck Assembly, mid depth

Machine Heads 850310-X-17    Machine Head Set - Gold w/ 
Ovation Logo

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930061-X       String Nut - Tusq - 6 String 

Fret Set 117-X-690B 20 Standard Notched Fret Set, 
Center Sound Hole 6-String

Top & Bowl 
Assembly 1777LX-X-200 Legend LX Top & Bowl Assembly, 

mid depth
Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold

Rosette / Epaulets 801270-X       Rosette - Acrylic Inlaid Polyester 
MOP Oak Leaf 

Pre-amp Receptacle 708943-X-CAN OP-PRO Studio 1/4” Jack Can

Pre-amp 708943-X OP-PRO Studio Preamp Assembly 
w/ 1/4” Jack

Bridge 811761-X   Bridge - Short - Ebony, No Slot 6-
String

Pickup Assy/
Saddle Only

704600-X 
700714-X-19 Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     



Model Specifications
1777LX

Bowl Bowl - Mid Depth Cutaway, ANS, Light 
Weight, No Window

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’

Fret Number & Size 20 Standard Notched Fret Set, Center Sound 
Hole 6-String

Inlay Material & Pattern Inlay - Dot, Polyester MOP #1 Alante       
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree

Pre-amp OP-PRO Studio Preamp Assembly w/ 1/4” 
Jack

Rosette / Epaulets Rosette - Acrylic Inlaid Polyester MOP Oak 
Leaf 

Scale Length 25 1/4”
Top Material & Grade Spruce Bookset (Matched) “AA”
Truss Rod Adjustment Location Headstock



A

1

2

4

5

B

A

B

1

4

3

5

2

3

5

67

8

9

10

6

7

8

9

10

8

Service Parts Reference
1778LX

Neck Assembly 1778LX-X-700 Elite LX Neck Assembly, mid depth

Machine Heads 850310-X-17    Machine Head Set - Gold w/ Ovation 
Logo

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 1998-X-690A 22 Standard Notched Fret Set, Elite 
6-String

Top & Bowl Assembly 1778LX-X-200 Elite LX Top & Bowl Assembly, mid 
depth

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 800580-X       Epaulette Assembly, Cutaway

Pre-amp Receptacle 708943-X-CAN OP-PRO Studio 1/4” Jack; Std. 
Location on Bowl

Pre-amp 708943-X OP-PRO Studio Preamp Assembly 
w/ 1/4” Jack

Bridge 811761-X    Bridge - Short - Ebony, No Slot 6-
String

Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

6



Model Specifications
1778LX

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & Pattern Inlay - Elite Small #1 Alante
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree

Pre-amp OP-PRO Studio Preamp Assembly w/ 1/4” 
Jack

Rosette / Epaulets Epaulette Assembly, Cutaway
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset (Matched) “AA”
Truss Rod Adjustment Location Headstock



A

1

2

4

5

B

A

B

1

4

3

5

2

3

5

67

8

9

10

6
7

8

9

10

8

Service Parts Reference
1861LX

Neck Assembly 1861LX-X-700 Standard Balladeer LX Neck 
Assembly, super shallow

Machine Heads 850310-X-15    Machine Head Set- Chrome w/ 
Ovation Logo 

Truss Rod Cover 910294-X Truss Rod Cover - Rosewood
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 117-X-690B 20 Standard Notched Fret Set, 
Center Sound Hole 6-String

Top & Bowl Assembly 1861LX-X-200 Standard Balladeer LX Top & 
Bowl Assembly, super shallow

Strap Knob 950072-X-13 Strap Lock - Dual Design, Nickel
Rosette / Epaulets 801386-X       Rosette - Acrylic Inlaid Oakleaf     
Pre-amp Receptacle 708922-X-CAN OP-PRO 1/4” Jack Can

Pre-amp 708922-X       OP-PRO Preamp Assembly w/ 
1/4” Jack

Bridge 811811-X   Bridge - Short - Rosewood, No 
Slot 6 String

Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic 

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     



Model Specifications
1861LX

Bowl Bowl - Super Shallow Cutaway, ANS, Light 
Weight, No Window

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’

Fret Number & Size 20 Standard Notched Fret Set, Center Sound 
Hole 6-String

Inlay Material & Pattern Inlay - Dot, Polyester MOP #1 Alante       
Neck Construction 5 Piece
Neck Finish Satin Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pre-amp OP-PRO Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets Rosette - Acrylic Inlaid Oakleaf     
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “A” Grade
Truss Rod Adjustment Location Headstock



A

1

2

4

5

B

A

B

1

4

3

5

2

3

5

67

8

9

10

6

7

8

9

10

8

Service Parts Reference
1863LX

Neck Assembly 1863LX-X-700 Classic LX Neck Assembly, super 
shallow

Machine Heads 850526-X-17 Side Mount, Gold w/ Ebony Buttons 
& Bushing, Schaller

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 940540-X Tusq Nut, 1 7/8” Ivory

Fret Set 1773-X-690A 19 Standard Notched Fret Set, 
Classic 6-String

Top & Bowl Assembly 1863LX-X-200 Classic LX Top & Bowl Assembly, 
super shallow

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold

Rosette / Epaulets 801270-X       Rosette - Acrylic Inlaid Polyester 
MOP Oak Leaf 

Pre-amp Receptacle 708943-X-CAN OP-PRO Studio 1/4” Jack Can

Pre-amp 708943-X OP-PRO Studio Preamp Assembly 
w/ 1/4” Jack

Bridge 811761-X    Bridge - Short - Ebony, No Slot 6-
String

Pickup Assy/
Saddle Only

703700-X
700715-X-19 Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     



Model Specifications
1863LX

Bowl Bowl - Super Shallow Cutaway, ANS, Light 
Weight, No Window

Bowl Paint Color Black Textured
Brace Pattern Classic
Fingerboard Radius 0”
Fret Number & Size 19 Standard Notched Fret Set, Classic 6-String
Inlay Material & Pattern None
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 12th Fret
Neck Width At Nut 1 7/8”
Peg head Angle 7 Degree
Pre-amp OP-PRO Studio Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets Rosette - Acrylic Inlaid Polyester MOP Oak Leaf 
Scale Length 26 3/16”
Top Material & Grade Bookset - Cedar (Matched)       
Truss Rod Adjustment Location Headstock



1

2

4

5

B

A

B

1

4

3

5

2

3

5

67

8

9

10

6

7

8

9

10

8

Service Parts Reference
1866LX

Neck Assembly 1866LX-X-700 Legend 12-String LX Neck 
Assembly, super shallow

Machine Heads 850340-X-17    Machine Head Set - Gold w/ 
Ovation Logo 12 String

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930062-X       String Nut - Tusq - 12 String        

Fret Set 1866-X-690B 20 Standard Notched Fret Set, 
Center Sound Hole 12-String

Top & Bowl Assembly 1866LX-X-200 Legend 12-String LX Top & Bowl 
Assembly, super shallow

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold

Rosette / Epaulets 801270-X       Rosette - Acrylic Inlaid Polyester 
MOP Oak Leaf 

Pre-amp Receptacle 708943-X-CAN OP-PRO Studio 1/4” Jack Can

Pre-amp 708943-X OP-PRO Studio Preamp Assembly 
w/ 1/4” Jack

Bridge 811771-X    Bridge - Short - Ebony, No Slot 12-
String   

Pickup Assy/
Saddle Only 700714-X-19 Saddle One-Piece A/E Classic

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

A



Model Specifications
1866LX

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & Pattern Inlay - Dot, Polyester MOP #1 Alante       
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint 
Location 14th Fret

Neck Width At Nut 1 7/8”
Peg head Angle 10 Degree
Pre-amp OP-PRO Studio Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets Rosette - Acrylic Inlaid Polyester MOP Oak Leaf 
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset (Matched) “AA”
Truss Rod Adjustment 
Location Headstock



A

1

2

5

B

A

B

1

4

3

5

2

3

5

6
7

8

9

10

6

7

8

9

10

8

Service Parts Reference
1867LX

Neck Assembly 1867LX-X-700 Legend LX Neck Assembly, super 
shallow

Machine Heads 850310-X-17    Machine Head Set - Gold w/ 
Ovation Logo

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 117-X-690B 20 Standard Notched Fret Set, 
Center Sound Hole 6-String

Top & Bowl 
Assembly 1867LX-X-200 Legend LX Top & Bowl Assembly, 

super shallow
Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold

Rosette / Epaulets 801270-X       Rosette - Acrylic Inlaid Polyester 
MOP Oak Leaf 

Pre-amp Receptacle 708943-X-CAN OP-PRO Studio 1/4” Jack Can

Pre-amp 708943-X OP-PRO Studio Preamp Assembly 
w/ 1/4” Jack

Bridge 811761-X    Bridge - Short - Ebony, No Slot 6-
String

Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

4



Model Specifications
1867LX

Bowl Bowl - Super Shallow Cutaway, ANS, Light Weight, 
No Window

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’

Fret Number & Size 20 Standard Notched Fret Set, Center Sound Hole 
6-String

Inlay Material & Pattern Inlay - Dot, Polyester MOP #1 Alante       
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pre-amp OP-PRO Studio Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets Rosette - Acrylic Inlaid Polyester MOP Oak Leaf 
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset (Matched) “AA”
Truss Rod Adjustment Location Headstock



A

1

2

5

B

A

B

1

4

3

5

2

3

5

7

8

9

10

6
7

8

9

10

8

Service Parts Reference
1868T

Neck Assembly 1868T-X-700 Elite T LX Neck Assembly, super 
shallow

Machine Heads 850310-X-00    Machine Head Set- Black Chrome 
w/ Ovation Logo 

Truss Rod Cover 910293-X Truss Rod Cover - Ebony

String Nut 930008-X-00    String Nut - Black Celcon - 1 11/16”   

Fret Set 1998-X-690A 22 Standard Notched Fret Set, Elite 
6-String

Top & Bowl 
Assembly 1868T-X-200 Elite T Top & Bowl Assembly, super 

shallow
Strap Knob 950072-X-00 Strap Lock - Dual Design, Black
Rosette / Epaulets None
Pre-amp Receptacle 708922-X-CAN OP-PRO 1/4” Jack Can

Pre-amp 708922-X       OP-PRO Preamp Assembly w/ 1/4” 
Jack

Bridge 811151-X    Bridge - Full Size - Ebony, No Slot 
6-String 

Pickup Assy/
Saddle Only

704600-X 
700714-X-19

(Black)
Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck 
Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   

Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

4



Model Specifications
1868T

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & Pattern None
Neck Construction 2 Piece
Neck Finish Satin Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pre-amp OP-PRO Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets None
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “A” Grade
Truss Rod Adjustment Location Headstock



A

1

2

5

B

A

B

1

4

3

5

2

3

5

6
7

8

9

10

6
7

8

9

10

8

Service Parts Reference
2005ES

Neck Assembly 2005ES-X-700 2005 Collectors’ LX Neck Assembly, 
deep contour

Machine Heads 850310-X-17    Machine Head Set - Gold w/ Ovation 
Logo

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set	 117-X-690B 20 Standard Notched Fret Set, Center 
Sound Hole 6-String

Top & Bowl 
Assembly 2005ES-X-200 2005 Collectors’ LX Top & Bowl 

Assembly, deep contour
Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 910302-X       Rosette Insert - Abalone   
Pre-amp Receptacle 708922-X-CAN OP-PRO 1/4” Jack Can

Pre-amp 708922-X OP-PRO 1/4” Jack; Std. Location on 
Bowl

Bridge 811761-X    Bridge - Short - Ebony, No Slot 6-
String

Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

4



Model Specifications
2005ES

Bowl Bowl - Deep Contour Cutaway, ANS, Light Weight, 
No Window   

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’

Fret Number & Size 20 Standard Notched Fret Set, Center Sound Hole 
6-String

Inlay Material & Pattern Contour Inlay, Abalone
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pre-amp OP-PRO 1/4” Jack; Std. Location on Bowl
Rosette / Epaulets Rosette Insert - Abalone   
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset - Englemann “AA”
Truss Rod Adjustment Location Headstock



A

1

2

5

B

A

B

1

4

3

5

2

3

5

6

7

8

9

10

6
7

8

9

10

8

Service Parts Reference
2006FKOA

Neck Assembly 2005ES-X-700 2005 Collectors’ LX Neck Assembly, 
deep contour

Machine Heads 850310-X-17    Machine Head Set - Gold w/ Ovation 
Logo

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 117-X-690B 20 Standard Notched Fret Set, Center 
Sound Hole 6-String

Top & Bowl Assembly 2006VIPK-X-200 2005 Collectors’ LX Top & Bowl 
Assembly, deep contour

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 910302-X       Rosette Insert - Abalone   
Pre-amp Receptacle 708942-X OP-PRO 1/4” Jack Can

Pre-amp 708939-X OP-PRO 1/4” Jack; Std. Location on 
Bowl

Bridge 811761-X    Bridge - Short - Ebony, No Slot 6-
String

Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

4



Model Specifications
2006FKOA

Bowl Bowl - Deep Contour Cutaway, ANS, Light Weight, No Window   
Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Fret Number & Size 22 Standard Notched Fret Set, Elite 6-String
Inlay Material & Pattern 12th Fret Contour Inlay, Koa, with Collectors’ Lasered
Neck Construction One Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pre-amp VIP Preamp Module, Complete
Rosette / Epaulets One Piece AAA Flame Maple
Scale Length 25 1/4”
Top Material & Grade AAA Koa Flame Bookset
Truss Rod Adjustment 
Location Headstock



A

1

2

5

B

A

B

1

4

3

5

2

3

5

6

7

8

9

10

6

7
8

9

10

8

Service Parts Reference
2007BC

Neck Assembly 2007BCS-X-700 2007 Collectors’ LX Neck Assembly, 
deep contour

Machine Heads 850310-X-00    Machine Head Set- Black Chrome 
w/ Ovation Logo 

Truss Rod Cover 910293-X Truss Rod Cover - Ebony

String Nut 930067-X-00    String Nut, 6-String 1 11/16”, Black 
Graph Tech 

Fret Set 1998-X-690A 22 Standard Notched Fret Set, Elite 
6-String

Top & Bowl Assembly N/A N/A
Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold

Rosette / Epaulets One Piece Spalted Maple (Bass 
Side Only)

Pre-amp Receptacle 708942-X VIP Receptacle Assembly
Pre-amp 708939-X VIP Preamp Module, Complete

Bridge 811761-X   Bridge - Short - Ebony, No Slot 6-
String

Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic 

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper Neck 
Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

4



Model Specifications
2007BC

Bowl Bowl - Deep Contour Cutaway, ANS, Light Weight, 
No Window   

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Fret Number & Size 22 Standard Notched Fret Set, Elite 6-String
Inlay Material & Pattern 12th Fret Inlay, Flame Maple, with Collectors’ Lasered
Neck Construction 5 Piece
Neck Finish Satin Conversion Varnish with Gloss Peghead
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pre-amp VIP Preamp Module, Complete



A

1

2

5

B

A

B

1

4
3

5

2

3

5

6

7

8

9

10

6

7
8
9

10

8

Service Parts Reference
2008-5

Neck Assembly 2007-X-700 Adamas Walnut Slot Head 1 3/4” 
Neck Assembly, Contour

Machine Heads 850527-X-17 Machine Head Set - Side Mount 
Mini, Gold w/ Gold Buttons, Schaller

Truss Rod Cover 910295-X Truss Rod Cover - Walnut
String Nut 930015-X    Bone Nut - 6 String         
Fret Set 950090-X    Fret Wire - Coiled 16” I.D.

Top & Bowl Assembly 2008-X-200 Adamas Unidirectional Textured Top 
& Fiberglass Contour Bowl

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold

Rosette / Epaulets 800720-X       Epaulette Assembly, Adamas 
Cutaway

Pre-amp Receptacle 708942-X VIP Receptacle Assembly
Pre-amp 708939-X VIP Preamp Module, Complete

Bridge 810251-X Bridge, Adamas I, 6-String Walnut

Pikup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel N/A N/A
Neck Bolt, Upper 
Neck Support Block N/A N/A

4



Model Specifications
2008-5

Bowl Bowl - Deep Contour Cutaway, Fiberglass, No Neck Block, No 
Window   

Bowl Paint Color Black Textured w/ gold flake
Brace Pattern 1187 Cutaway Quintad
Fingerboard Radius 10’’
Fret Number & Size Fret Wire - Coiled 16” I.D.
Inlay Material & Pattern Lasered Gold Leaf w/ “Collectors’ “ b/w 15th & 16th frets  
Neck Construction 2 Piece
Neck Finish Satin Urethane Neck/Satin Peghead Face, Numbered 1 of 100, etc.
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 3/4”
Peg head Angle 7 Degree
Pre-amp VIP Preamp Module, Complete
Rosette / Epaulets Epaulette Assembly, Adamas Cutaway
Scale Length 25 1/4”
Top Material & Grade Adamas Uni Directional Textured, Birch Core, Top Blank
Truss Rod Adjustment 
Location Headstock



A

1

2

5

B

A

B

1

4

3

5

2

3

5

6

7

8

9

10

6
7

8

9

10

8

Service Parts Reference
2058T

Neck Assembly 2058T-X-700 Elite T 12-String, LX Neck Assembly, 
deep contour

Machine Heads 850340-X-00    Machine Head Set - Black w/ Ovation 
Logo 12 String

Truss Rod Cover 910293-X Truss Rod Cover - Ebony

String Nut 930011-X-00    String Nut - Black Celcon -12 String 1 
7/8”  

Fret Set 1858-X-690B 22 Standard Notched Fret Set, Elite 12-
String

Top & Bowl 
Assembly 2058T-X-200 Elite T 12-String Top & Bowl Assembly, 

deep contour
Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets None
Pre-amp Receptacle 708922-X-CAN OP-PRO 1/4” Jack Can

Pre-amp 708922-X       OP-PRO Preamp Assembly w/ 1/4” Jack

Bridge 811771-X   Bridge - Short - Ebony, No Slot 12-String   

Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

4



Model Specifications
2058T

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & Pattern None
Neck Construction 2 Piece
Neck Finish Satin Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 7/8”
Peg head Angle 10 Degree
Pre-amp OP-PRO Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets None
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “A” Grade
Truss Rod Adjustment Location Headstock



A

1

2

5

B

A

B

1

4

3

5

2

3

5

6
7

8

9

10

6

7

8

9

10

8

Service Parts Reference
2077LX

Neck Assembly 2077LX-X-700 Legend LX Neck Assembly, deep contour

Machine Heads 850310-X-17    Machine Head Set - Gold w/ Ovation 
Logo

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 1998-X-690A 22 Standard Notched Fret Set, Elite 6-
String

Top & Bowl Assembly 2077LX-X-200 Legend LX Top & Bowl Assembly, deep 
contour

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold

Rosette / Epaulets 801270-X       Rosette - Acrylic Inlaid Polyester MOP 
Oak Leaf 

Pre-amp Receptacle 708943-X-CAN OP-PRO Studio 1/4” Jack Can

Pre-amp 708943-X OP-PRO Studio Preamp Assembly w/ 
1/4” Jack

Bridge 811761-X   Bridge - Short - Ebony, No Slot 6-String
Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

4



Model Specifications
2077LX

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Fret Number & Size 20 Standard Notched Fret Set, Center Sound Hole 6-String
Inlay Material & Pattern Inlay - Dot, Polyester MOP #1 Alante       
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint 
Location 14th Fret

Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pre-amp OP-PRO Studio Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets Rosette - Acrylic Inlaid Polyester MOP Oak Leaf 
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset (Matched) “AA”
Truss Rod Adjustment 
Location Headstock



A

1

2

5

B

A

B

1

4

3

5

2

3

5

6

7

8

9

10

6
7

8

9

10

8

Service Parts Reference
2078T

Neck Assembly 1778T-X-700 Elite T LX Neck Assembly, mid depth

Machine Heads 850310-X-00    Machine Head Set- Black Chrome w/ 
Ovation Logo 

Truss Rod Cover 910293-X Truss Rod Cover - Ebony

String Nut 930008-X-00    String Nut - Black Celcon - 1 11/16”   

Fret Set 1998-X-690A 22 Standard Notched Fret Set, Elite 6-
String

Top & Bowl Assembly 1778T-X-200 Elite T Top & Bowl Assembly, mid depth

Strap Knob 950072-X-00 Strap Lock - Dual Design, Black
Rosette / Epaulets None
Pre-amp Receptacle 708922-X-CAN OP-PRO 1/4” Jack Can

Pre-amp 708922-X       OP-PRO Preamp Assembly w/ 1/4” Jack

Bridge 811151-X    Bridge - Full Size - Ebony, No Slot 6-
String 

Pickup Assy/
Saddle Only

704600-X
700714-X-19

(Black)
Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

4



Model Specifications
2078T

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & Pattern None
Neck Construction 2 Piece
Neck Finish Satin Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pre-amp OP-PRO Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets None
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “A” Grade
Truss Rod Adjustment Location Headstock



A

1

2

5

B

A

B

1

4

3

5

2

3

5

6

7

8

9

10

6

7
8
9

10

8

Service Parts Reference
2080-NWT

Neck Assembly 2080-X-700 Adamas Walnut LX Neck Assembly, 
deep contour

Machine Heads 850300-X-14 Machine Head Set, 3 & 3, Satin 
Chrome w/ Ebony Buttons, Schaller

Truss Rod Cover 910293-X Truss Rod Cover - Ebony

String Nut 930067-X-00    String Nut, 6-String 1 11/16”, Black 
Graph Tech 

Fret Set 1998-X-690A 22 Standard Notched Fret Set, Elite 
6-String

Top & Bowl Assembly 2080-X-200 Adamas 2 * 2 Twill, Aluminum Tear 
Drop Sound Port, deep contour

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold

Rosette / Epaulets 801389-X Aluminum Tear Drop Sound Hole 
Treatment

Pre-amp Receptacle 708942-X VIP Receptacle Assembly
Pre-amp 708939-X VIP Preamp Module, Complete
Bridge 811761-X    Bridge - Short - Ebony, No Slot 6-String
Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper Neck 
Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

4



Model Specifications
2080-NWT

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & Pattern Contour Inlay, MOP
Neck Construction 2 Piece
Neck Finish Satin Urethane Neck/Gloss Peghead Face
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint 
Location 14th Fret

Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pre-amp VIP Preamp Module, Complete
Rosette / Epaulets Aluminum Tear Drop Sound Hole Treatment
Scale Length 25 1/4”

Top Material & Grade Adamas 2 * 2 Twill, Textured, Plywood Core, Top Blank 
From Adamas Cost Sheets              

Truss Rod Adjustment 
Location Headstock



A

1

2

5

B

A

B

1

4

3

5

2

3

5

67

8

9

10

6
7
8
9

10

8

Service Parts Reference
2751LX

Neck Assembly 2751LX-X-700 Standard Balladeer 12-String LX Neck 
Assembly, deep contour

Machine Heads 850340-X-15    Machine Head Set - Chrome w/ 
Ovation Logo 12 String

Truss Rod Cover 910294-X Truss Rod Cover - Rosewood
String Nut 930062-X       String Nut - Tusq - 12 String        

Fret Set 1866-X-690B 20 Standard Notched Fret Set, Center 
Sound Hole 12-String

Top & Bowl Assembly 6751LX-X-200 Standard Balladeer 12-String LX Top & 
Bowl Assembly, mid depth

Strap Knob 950072-X-13 Strap Lock - Dual Design, Nickel
Rosette / Epaulets 801386-X       Rosette - Acrylic Inlaid Oakleaf     
Pre-amp Receptacle 708922-X-CAN OP-PRO 1/4” Jack Can
Pre-amp 708922-X       OP-PRO Preamp Assembly w/ 1/4” Jack
Bridge 811831-X Short - Rosewood, No Slot 12 String
Pickkup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

4



Model Specifications
2751LX

Bowl Bowl - Mid Depth Cutaway, ANS, Light Weight, 
No Window

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’

Fret Number & Size 20 Standard Notched Fret Set, Center Sound 
Hole 12-String

Inlay Material & Pattern Inlay - Dot, Polyester MOP #1 Alante       
Neck Construction 5 Piece
Neck Finish Satin Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 7/8”
Peg head Angle 10 Degree
Pre-amp OP-PRO Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets Rosette - Acrylic Inlaid Oakleaf     
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “A” Grade
Truss Rod Adjustment 
Location Headstock



A

1

2

5

B

A

B

1

4

3

5

2

3

5

6
7

8

9

10

6
7
8
9

10

8

Service Parts Reference
2758LX

Neck Assembly 2758LX-X-700 Standard Elite 12-String LX Neck 
Assembly, deep contour

Machine Heads 850340-X-15    Machine Head Set - Chrome w/ 
Ovation Logo 12 String

Truss Rod Cover 910294-X Truss Rod Cover - Rosewood
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 1858-X-690B 22 Standard Notched Fret Set, Elite 
12-String

Top & Bowl 
Assembly 2758LX-X-200 Standard Elite 12-String Top & Bowl 

Assembly, deep contour
Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 800580-X       Epaulette Assembly, Cutaway
Pre-amp Receptacle 708922-X-CAN OP-PRO 1/4” Jack Can
Pre-amp 708922-X       OP-PRO Preamp Assembly w/ 1/4” Jack
Bridge 811831-X Short - Rosewood, No Slot 12 String
Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

4

6



Model Specifications
2758LX

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & Pattern Inlay - Dot, Polyester MOP #1 Alante       
Neck Construction 5 Piece
Neck Finish Satin Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 7/8”
Peg head Angle 10 Degree
Pre-amp OP-PRO Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets Epaulette Assembly, Cutaway
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “A” Grade
Truss Rod Adjustment Location Headstock



A

B

1

4

3

5

2

6
7

8

9
10

Service Parts Reference
2771LX

Neck Assembly 2771LX-X-700 Standard Balladeer LX Neck 
Assembly, deep contour

Machine Heads 850310-X-15    Machine Head Set- Chrome w/ 
Ovation Logo 

Truss Rod Cover 910294-X Truss Rod Cover - Rosewood
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 1858-X-690B 22 Standard Notched Fret Set, 
Elite 12-String

Top & Bowl 
Assembly 2771LX-X-200 Standard Balladeer LX Top & 

Bowl Assembly, deep contour
Strap Knob 950072-X-13 Strap Lock - Dual Design, Nickel
Rosette / Epaulets 801386-X       Rosette - Acrylic Inlaid Oakleaf     
Pre-amp Receptacle 708922-X-CAN OP-PRO 1/4” Jack Can

Pre-amp 708922-X       OP-PRO Preamp Assembly w/ 
1/4” Jack

Bridge 811811-X   Short - Rosewood, No Slot 6 String
Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E ClassicC  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

A

1

2

5

B

3

5

7

8

9

10

8

4

6



Model Specifications
2771LX

Bowl Bowl - Deep Contour Cutaway, ANS, Light Weight, 
No Window   

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’

Fret Number & Size 20 Standard Notched Fret Set, Center Sound Hole 
6-String

Inlay Material & Pattern Inlay - Dot, Polyester MOP #1 Alante       
Neck Construction 5 Piece
Neck Finish Satin Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pre-amp OP-PRO Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets Rosette - Acrylic Inlaid Oakleaf     
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “A” Grade
Truss Rod Adjustment Location Headstock



A

B

1

4

3

5

2

6
7

8

9
10

Service Parts Reference
2778LX

Neck Assembly 2778LX-X-700 Standard Elite LX Neck Assembly, 
deep contour

Machine Heads 850310-X-15    Machine Head Set- Chrome w/ 
Ovation Logo 

Truss Rod Cover 910294-X Truss Rod Cover - Rosewood
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 1998-X-690A 22 Standard Notched Fret Set, 
Elite 6-String

Top & Bowl 
Assembly 2778LX-X-200 Standard Elite LX Top & Bowl 

Assembly, deep contour
Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 800580-X       Epaulette Assembly, Cutaway
Pre-amp Receptacle 708922-X-CAN OP-PRO 1/4” Jack Can

Pre-amp 708922-X       OP-PRO Preamp Assembly w/ 
1/4” Jack

Bridge 811811-X    Short - Rosewood, No Slot 6 String
Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-A-00    Screw, Cap - 1/4-20 X 3/4     

A

1

2

5

B

3

5

7

8

9

10

8

4

6

6



Model Specifications
2778LX

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & Pattern Inlay - Dot, Polyester MOP #1 Alante       
Neck Construction 5 Piece
Neck Finish Satin Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pre-amp OP-PRO Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets Epaulette Assembly, Cutaway
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “A” Grade
Truss Rod Adjustment Location Headstock



A

B

1

4

3

5

2

6
7

8

9

10

Service Parts Reference
6751LX

Neck Assembly 6751LX-X-700 Standard Balladeer 12-String LX 
Neck Assembly, mid depth

Machine Heads 850340-X-15    Machine Head Set - Chrome w/ 
Ovation Logo 12 String

Truss Rod Cover 910294-X Truss Rod Cover - Rosewood
String Nut 930062-X       String Nut - Tusq - 12 String        

Fret Set 1866-X-690B 20 Standard Notched Fret Set, 
Center Sound Hole 12-String

Top & Bowl Assembly 6751LX-X-200 Standard Balladeer 12-String LX 
Top & Bowl Assembly, mid depth

Strap Knob 950072-X-13 Strap Lock - Dual Design, Nickel
Rosette / Epaulets 801386-X       Rosette - Acrylic Inlaid Oakleaf     
Pre-amp Receptacle 708922-X-CAN OP-PRO 1/4” Jack Can

Pre-amp 708922-X       OP-PRO Preamp Assembly w/ 1/4” 
Jack

Bridge 811831-X Bridge - Short - Rosewood, No Slot 
12 String

Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper Neck 
Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

A

1

2

5

B

3

5

7

8

9

10

8

4

6



Model Specifications
6751LX

Bowl Bowl - Mid Depth Cutaway, ANS, Light Weight, No Window
Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’

Fret Number & Size 20 Standard Notched Fret Set, Center Sound Hole 12-
String

Inlay Material & Pattern Inlay - Dot, Polyester MOP #1 Alante       
Neck Construction 5 Piece
Neck Finish Satin Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint 
Location 14th Fret

Neck Width At Nut 1 7/8”
Peg head Angle 10 Degree
Pre-amp OP-PRO Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets Rosette - Acrylic Inlaid Oakleaf     
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “A” Grade
Truss Rod Adjustment 
Location Headstock



A

B

1

4

3

5

2

6

7

8

9

10

Service Parts Reference
6756LX

Neck Assembly 6756LX-X-700 Legend 12-String LX Neck 
Assembly, mid depth

Machine Heads 850340-X-17    Machine Head Set - Gold w/ 
Ovation Logo 12 String

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930062-X       String Nut - Tusq - 12 String        

Fret Set 1866-X-690B 20 Standard Notched Fret Set, 
Center Sound Hole 12-String

Top & Bowl Assembly 6756LX-X-200 Legend 12-String LX Top & Bowl 
Assembly, mid depth

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold

Rosette / Epaulets 801270-X       Rosette - Acrylic Inlaid Polyester 
MOP Oak Leaf 

Pre-amp Receptacle 708943-X-CAN OP-PRO Studio 1/4” Jack Can

Pre-amp 708943-X OP-PRO Studio Preamp Assembly 
w/ 1/4” Jack

Bridge 811771-X    Bridge - Short - Ebony, No Slot 12-
String   

Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

A

1

2

5

B

3

5

7

8

9

10

8

4

6



Model Specifications
6756LX

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & Pattern Inlay - Dot, Polyester MOP #1 Alante       
Neck Construction 5 Piece
Neck Finish Satin Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 7/8”
Peg head Angle 10 Degree
Pre-amp OP-PRO Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets Epaulette Assembly, Cutaway
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “A” Grade
Truss Rod Adjustment Location Headstock



A

B

1

4

3

5

2

6
7

8

9

10

Service Parts Reference
6758LX

Neck Assembly 6778LX-X-700 Standard Elite LX Neck Assembly, 
mid depth

Machine Heads 850310-X-15    Machine Head Set- Chrome w/ 
Ovation Logo 

Truss Rod Cover 910294-X Truss Rod Cover - Rosewood
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 1998-X-690A 22 Standard Notched Fret Set, Elite 
6-String

Top & Bowl 
Assembly 6778LX-X-200 Standard Elite LX Top & Bowl 

Assembly, mid depth
Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 800580-X       Epaulette Assembly, Cutaway
Pre-amp Receptacle 708922-X-CAN OP-PRO 1/4” Jack Can

Pre-amp 708922-X       OP-PRO Preamp Assembly w/ 1/4” 
Jack

Bridge 811811-X    Bridge - Short - Rosewood, No Slot 
6 String

Pikup Assy/
Saddle Only 700714-X-19 Saddle One-Piece A/E Classic 

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

A

1

2

5

B

3

5

7

8

9

10

8

4

6

6



Model Specifications
6758LX

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & Pattern Inlay - Dot, Polyester MOP #1 Alante       
Neck Construction 5 Piece
Neck Finish Satin Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 7/8”
Peg head Angle 10 Degree
Pre-amp OP-PRO Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets Epaulette Assembly, Cutaway
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “A” Grade
Truss Rod Adjustment Location Headstock



A

B

1

4

3

5

2

6
7
8

9

10

Service Parts Reference
6758T

Neck Assembly 6758T-X-700 Elite T 12-String, LX Neck 
Assembly, mid depth

Machine Heads 850340-X-00    Machine Head Set - Black w/ 
Ovation Logo 12 String

Truss Rod Cover 910293-X Truss Rod Cover - Ebony

String Nut 930011-X-00    String Nut - Black Celcon -12 String 
1 7/8”  

Fret Set 1858-X-690B 22 Standard Notched Fret Set, Elite 
12-String

Top & Bowl 
Assembly 6758T-X-200 Elite T 12-String Top & Bowl 

Assembly, mid depth
Strap Knob 950072-X-00 Strap Lock - Dual Design, Black
Rosette / Epaulets None
Pre-amp Receptacle 708922-X-CAN OP-PRO 1/4” Jack Can

Pre-amp 708922-X       OP-PRO Preamp Assembly w/ 
1/4” Jack

Bridge 811771-X    Short - Ebony, No Slot 12-String   
Pickup Assy/
Saddle Only

704600-X-00
700714-X-19

(Black)
Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   

A

1

2

5

B

3

5

7

8

9

10

8

4

6



Model Specifications
6758T

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & Pattern None
Neck Construction 2 Piece
Neck Finish Satin Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 7/8”
Peg head Angle 10 Degree
Pre-amp OP-PRO Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets None
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “A” Grade
Truss Rod Adjustment Location Headstock



A

B

1

4

3

5

2

6
7

8

9

10

Service Parts Reference
6773LX

Neck Assembly 6773LX-X-700 Artist LX Neck Assembly, mid 
depth

Machine Heads 850526-X-17 Side Mount, Gold w/ Ebony 
Buttons & Bushing, Schaller

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 940527-X String Nut, Tusq, 1 3/4”

Fret Set 6773-X-690A 20 Standard Notched Fret Set, 
Artist 6-String

Top & Bowl Assembly 6773LX-X-200 Artist LX Top & Bowl Assembly, 
mid depth

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 801370-X       Rosette - Folklore Deluxe     
Pre-amp Receptacle 708943-X-CAN OP-PRO Studio 1/4” Jack Can

Pre-amp 708943-X OP-PRO Studio Preamp Assembly 
w/ 1/4” Jack

Bridge 811761-X  Bridge - Short - Ebony, No Slot 6-
String

Pickup Assy/
Saddle Only

703700-X-00
700715-X-19 Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper Neck 
Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

A

1

2

5

B

3

5

7

8

9

10

8

4

6



Model Specifications
6773LX

Bowl Bowl - Mid Depth Cutaway, ANS, Light Weight, 
No Window

Bowl Paint Color Black Textured
Brace Pattern Artist
Fingerboard Radius 0”
Fret Number & Size 20 Standard Notched Fret Set, Artist 6-String
Inlay Material & Pattern None
Neck Construction 5 Piece
Neck Finish Satin Urethane Neck/Gloss Peghead Face
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 3/4”
Peg head Angle 7 Degree
Pre-amp OP-PRO Studio Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets Rosette - Folklore Deluxe     
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset (Matched) “AA”
Truss Rod Adjustment Location Headstock



A

B

1

4

3

5

2

6
7

8

9

10

Service Parts Reference
6774LX

Neck Assembly 6774LX-X-700 Folklore LX Neck Assembly, mid 
depth

Machine Heads 850390-X-17    Machine Head Set - Side Mount, 
Gold w/ Ebony Buttons, Schaller

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 940527-X String Nut, Tusq, 1 3/4”

Fret Set 117-X-690B 20 Standard Notched Fret Set, 
Center Sound Hole 6-String

Top & Bowl 
Assembly 6774LX-X-200 Folklore LX Top & Bowl Assembly, 

mid depth
Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 801370-X       Rosette - Folklore Deluxe     
Pre-amp Receptacle 708943-X-CAN OP-PRO Studio 1/4” Jack Can

Pre-amp 708943-X OP-PRO Studio Preamp Assembly 
w/ 1/4” Jack

Bridge 811761-X    Short - Ebony, No Slot 6-String
Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck 
Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   

A

1

2

5

B

3

5

7

8

9

10

8

4

6



Model Specifications
6774LX

Bowl Bowl - Mid Depth Cutaway, ANS, Light Weight, 
No Window

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10”

Fret Number & Size 20 Standard Notched Fret Set, Center Sound 
Hole 6-String

Inlay Material & Pattern None
Neck Construction 5 Piece
Neck Finish Satin Urethane Neck/Gloss Peghead Face
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 3/4”
Peg head Angle 7 Degree
Pre-amp OP-PRO Studio Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets Rosette - Folklore Deluxe     
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset (Matched) “AA”
Truss Rod Adjustment Location Headstock



A

B

1

4

3

5

2

6
7

8

9

10

Service Parts Reference
6778LX

Neck Assembly 6778LX-X-700 Standard Elite LX Neck Assembly, 
mid depth

Machine Heads 850310-X-15    Machine Head Set- Chrome w/ 
Ovation Logo 

Truss Rod Cover 910294-X Truss Rod Cover - Rosewood
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 1998-X-690A 22 Standard Notched Fret Set, Elite 
6-String

Top & Bowl Assembly 6778LX-X-200 Standard Elite LX Top & Bowl 
Assembly, mid depth

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 800580-X       Epaulette Assembly, Cutaway
Pre-amp Receptacle 708922-X-CAN OP-PRO 1/4” Jack Can

Pre-amp 708922-X       OP-PRO Preamp Assembly w/ 
1/4” Jack

Bridge 811811-X   Short - Rosewood, No Slot 6 String
Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

A

1

2

5

B

3

5

7

8

9

10

8

4

6

6



Model Specifications
6778LX

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & Pattern Inlay - Dot, Polyester MOP #1 Alante       
Neck Construction 5 Piece
Neck Finish Satin Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pre-amp OP-PRO Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets Epaulette Assembly, Cutaway
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “A” Grade
Truss Rod Adjustment Location Headstock



A

B

1

4

3

5

2

6
7

8

9

10

Service Parts Reference
6868LX

Neck Assembly 6868LX-X-700 Standard Elite LX Neck Assembly, 
super shallow

Machine Heads 850310-X-15    Machine Head Set- Chrome w/ 
Ovation Logo 

Truss Rod Cover 910294-X Truss Rod Cover - Rosewood
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 1998-X-690A 22 Standard Notched Fret Set, 
Elite 6-String

Top & Bowl Assembly 6868LX-X-200 Standard Elite LX Top & Bowl 
Assembly, super shallow

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 800580-X       Epaulette Assembly, Cutaway
Pre-amp Receptacle 708922-X-CAN OP-PRO 1/4” Jack Can

Pre-amp 708922-X       OP-PRO Preamp Assembly w/ 
1/4” Jack

Bridge 811811-X    Short - Rosewood, No Slot 6 String
Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper Neck 
Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

A

1

2

5

B

3

5

7

8

9

10

8

4

6

6



Model Specifications
6868LX

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & Pattern Inlay - Dot, Polyester MOP #1 Alante       
Neck Construction 5 Piece
Neck Finish Satin Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pre-amp OP-PRO Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets Epaulette Assembly, Cutaway
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “A” Grade
Truss Rod Adjustment Location Headstock



A

B

1

4

3

5

2

6

7

8

9

10

Service Parts Reference
C2059LX

Neck Assembly C759LX-X-700 Custom Legend 12-String LX Neck 
Assembly, mid depth

Machine Heads 850480-X-17    Machine Head Set, 12 String - Minis 
- Gold w/ Pearl Buttons

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930062-X       String Nut - Tusq - 12 String        

Fret Set 1866-X-690B 20 Standard Notched Fret Set, 
Center Sound Hole 12-String

Top & Bowl 
Assembly C779LX-X-200 Custom Legend LX Top & Bowl 

Assembly, mid depth
Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold

Rosette / Epaulets 801292-X       Rosette - Acrylic Inlaid Abalone Oak 
Leaf 

Pre-amp Receptacle 708944-X-CAN OP-PRO Studio 1/4” Jack with 
XLR Can

Pre-amp 708944-X OP-PRO Studio Preamp Assembly 
w/ 1/4” Jack & XLR

Bridge 811771-X    Bridge - Short - Ebony, No Slot 12-String   
Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic 

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-A-00    Screw, Cap - 1/4-20 X 3/4     

A

1

2

5

B

3

5

7

8

9

10

8

4

6



Model Specifications
C2059LX

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & Pattern Inlay - Dot, Abalone, Small            
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 7/8”
Peg head Angle 10 Degree

Pre-amp OP-PRO Studio Preamp Assembly w/ 1/4” 
Jack & XLR

Rosette / Epaulets Rosette - Acrylic Inlaid Abalone Oak Leaf 
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “AAA”
Truss Rod Adjustment Location Headstock



A

B

1

4

3

5

2

6

7

8

9

10

Service Parts Reference
C2078LX

Neck Assembly C2078LX-X-700 Custom Elite LX Neck Assembly, 
deep contour

Machine Heads 850470-X-17    Machine Head Set - Gold w/ Pearl 
Buttons w/ Ovation Logo

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 1998-X-690A 22 Standard Notched Fret Set, 
Elite 6-String

Top & Bowl Assembly C2078LX-X-200 Custom Elite LX Top & Bowl 
Assembly, deep contour

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 800580-X       Epaulette Assembly, Cutaway

Pre-amp Receptacle 708944-X-CAN OP-PRO Studio 1/4” Jack with 
XLR Can

Pre-amp 708944-X OP-PRO Studio Preamp 
Assembly w/ 1/4” Jack & XLR

Bridge 811761-X    Short - Ebony, No Slot 6-String
Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic 

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

A

1

2

5

B

3

5

7

8

9

10

8

4

6

6



Model Specifications
C2078LX

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & Pattern Inlay - Abalone - Elite Style  
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree

Pre-amp OP-PRO Studio Preamp Assembly w/ 1/4” 
Jack & XLR

Rosette / Epaulets Epaulette Assembly, Cutaway
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “AAA”
Truss Rod Adjustment Location Headstock



A

B

1

4

3

5

2

6

7

8
9

10

Service Parts Reference
C2079LX

Neck Assembly  C869LX-X-700 Custom Legend LX Neck Assembly, 
super shallow

Machine Heads 850470-X-17    Machine Head Set - Gold w/ Pearl 
Buttons w/ Ovation Logo

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 117-X-690B 20 Standard Notched Fret Set, 
Center Sound Hole 6-String

Top & Bowl Assembly C2079LX-X-200 Custom Legend LX Top & Bowl 
Assembly, deep contour

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 801292-X       Acrylic Inlaid Abalone Oak Leaf 

Pre-amp Receptacle 708944-X-CAN OP-PRO Studio 1/4” Jack with 
XLR Can

Pre-amp 708944-X OP-PRO Studio Preamp Assembly 
w/ 1/4” Jack & XLR

Bridge 811761-X    Short - Ebony, No Slot 6-String
Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

A

1

2

5

B

3

5

7

8

9

10

8

4

6



Model Specifications
C2079LX

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & Pattern Inlay - Dot, Abalone, Small            
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree

Pre-amp OP-PRO Studio Preamp Assembly w/ 1/4” Jack 
& XLR

Rosette / Epaulets Rosette - Acrylic Inlaid Abalone Oak Leaf 
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “AAA”
Truss Rod Adjustment Location Headstock



A

B

1

4

3

5

2

6

7

8

9

10

Service Parts Reference
C759LX

Neck Assembly C759LX-X-700 Custom Legend 12-String LX 
Neck Assembly, mid depth

Machine Heads 850480-X-17    Machine Head Set, 12 String - 
Minis - Gold w/ Pearl Buttons

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930062-X       String Nut - Tusq - 12 String        

Fret Set 1866-X-690B 20 Standard Notched Fret Set, 
Center Sound Hole 12-String

Top & Bowl Assembly C779LX-X-200 Custom Legend LX Top & Bowl 
Assembly, mid depth

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold

Rosette / Epaulets 801292-X       Rosette - Acrylic Inlaid Abalone 
Oak Leaf 

Pre-amp Receptacle 708944-X-CAN OP-PRO Studio 1/4” Jack with 
XLR Can

Pre-amp 708944-X OP-PRO Studio Preamp Assembly 
w/ 1/4” Jack & XLR

Bridge 811771-X    Short - Ebony, No Slot 12-String   
Pikcup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic   

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper Neck 
Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

A

1

2

B

3

5

7

8

9

10

8

4

6



Model Specifications
C759LX

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & 
Pattern Inlay - Dot, Abalone, Small            

Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint 
Location 14th Fret

Neck Width At Nut 1 7/8”
Peg head Angle 10 Degree
Pre-amp OP-PRO Studio Preamp Assembly w/ 1/4” Jack & XLR
Rosette / Epaulets Rosette - Acrylic Inlaid Abalone Oak Leaf 
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “AAA”
Truss Rod Adjustment 
Location Headstock



A

B

1

4

3

5

2

6

7

8

9

10

Service Parts Reference
C778LX

Neck Assembly C778LX-X-700 Custom Elite LX Neck Assembly, 
mid depth

Machine Heads 850470-X-17    Machine Head Set - Gold w/ Pearl 
Buttons w/ Ovation Logo

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 1998-X-690A 22 Standard Notched Fret Set, Elite 
6-String

Top & Bowl 
Assembly C778LX-X-200 Custom Elite LX Top & Bowl 

Assembly, mid depth
Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 800580-X       Epaulette Assembly, Cutaway

Pre-amp Receptacle 708944-X-CAN OP-PRO Studio 1/4” Jack with 
XLR Can

Pre-amp 708944-X OP-PRO Studio Preamp Assembly 
w/ 1/4” Jack & XLR

Bridge 811761-X   Short - Ebony, No Slot 6-String
Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic   

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

A

1

2

5

B

3

5

7

8

9

10

8

4

6

6



Model Specifications
C778LX

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & Pattern Inlay - Abalone - Elite Style  
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree

Pre-amp OP-PRO Studio Preamp Assembly w/ 1/4” 
Jack & XLR

Rosette / Epaulets Epaulette Assembly, Cutaway
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “AAA”
Truss Rod Adjustment Location Headstock



A

B

1

4

3

5

2

6
7

8

9

10

Service Parts Reference
C779LX

Neck Assembly C779LX-X-700 Custom Legend LX Neck Assembly, mid 
depth

Machine Heads 850470-X-17    Machine Head Set - Gold w/ Pearl 
Buttons w/ Ovation Logo

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 117-X-690B 20 Standard Notched Fret Set, Center 
Sound Hole 6-String

Top & Bowl 
Assembly C779LX-X-200 Custom Legend LX Top & Bowl 

Assembly, mid depth
Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 801292-X       Rosette - Acrylic Inlaid Abalone Oak Leaf 
Pre-amp Receptacle 708944-X-CAN OP-PRO Studio 1/4” Jack with XLR Can

Pre-amp 708944-X OP-PRO Studio Preamp Assembly w/ 
1/4” Jack & XLR

Bridge 811761-X  Bridge - Short - Ebony, No Slot 6-String
Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic  

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

A

1

2

5

B

3

5

7

8

9

10

8

4

6



Model Specifications
C779LX

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & Pattern Inlay - Dot, Abalone, Small            
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree

Pre-amp OP-PRO Studio Preamp Assembly w/ 1/4” 
Jack & XLR

Rosette / Epaulets Rosette - Acrylic Inlaid Abalone Oak Leaf 
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “AAA”
Truss Rod Adjustment Location Headstock



A

B

1

4

3

5

2

6
7

8

9

10

Service Parts Reference
C868LX

Neck Assembly C868LX-X-700 Custom Elite LX Neck Assembly, super 
shallow

Machine Heads 850470-X-17    Machine Head Set - Gold w/ Pearl 
Buttons w/ Ovation Logo

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 1998-X-690A 22 Standard Notched Fret Set, Elite 
6-String

Top & Bowl 
Assembly C868LX-X-200 Custom Elite LX Top & Bowl Assembly, 

super shallow
Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 800580-X       Epaulette Assembly, Cutaway
Pre-amp Receptacle 708944-X-CAN OP-PRO Studio 1/4” Jack with XLR Can

Pre-amp 708944-X OP-PRO Studio Preamp Assembly w/ 
1/4” Jack & XLR

Bridge 811761-X    Bridge - Short - Ebony, No Slot 6-String
Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic   

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

A

1

2

5

B

3

5

7

8

9

10

8

4

6



Model Specifications
C868LX

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’
Inlay Material & Pattern Inlay - Abalone - Elite Style  
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree

Pre-amp OP-PRO Studio Preamp Assembly w/ 1/4” Jack 
& XLR

Rosette / Epaulets Epaulette Assembly, Cutaway
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “AAA”
Truss Rod Adjustment 
Location Headstock



A

B

1

4

3

5

2

6
7

8

9

10

Service Parts Reference
C869LX

Neck Assembly C869LX-X-700 Custom Legend LX Neck Assembly, 
super shallow

Machine Heads 850470-X-17    Machine Head Set - Gold w/ Pearl 
Buttons w/ Ovation Logo

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 117-X-690B
20 Standard Notched Fret Set, Center 
Sound Hole 6-String

Top & Bowl Assembly C869LX-X-200 Custom Legend LX Top & Bowl 
Assembly, super shallow

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 801292-X       Rosette - Acrylic Inlaid Abalone Oak Leaf 
Pre-amp Receptacle 708944-X-CAN OP-PRO Studio 1/4” Jack with XLR Can

Pre-amp 708944-X OP-PRO Studio Preamp Assembly w/ 
1/4” Jack & XLR

Bridge 811761-X  Short - Ebony, No Slot 6-String
Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic   

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper Neck 
Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

A

1

2

5

B

3

5

7

8

9

10

8

4

6



Model Specifications
C869LX

Bowl Bowl - Super Shallow Cutaway, ANS, Light 
Weight, No Window

Bowl Paint Color Black Textured
Brace Pattern LX Series Scalloped X
Fingerboard Radius 10’’

Fret Number & Size 20 Standard Notched Fret Set, Center Sound 
Hole 6-String

Inlay Material & Pattern Inlay - Dot, Abalone, Small            
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree

Pre-amp OP-PRO Studio Preamp Assembly w/ 1/4” Jack 
& XLR

Rosette / Epaulets Rosette - Acrylic Inlaid Abalone Oak Leaf 
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “AAA”
Truss Rod Adjustment Location Headstock



A

B

1

4
3

5

2

6

7

9

Service Parts Reference
K-1111

Neck Assembly N/A N/A

Machine Heads 850525-X-13 Machine Head Set 6-String Nickel - 
Tone Pros Kluson Style

Truss Rod Cover 940028-X Plastic
String Nut 930015-X Bone Nut - 6 String, Complete
Fret Set N/A 20 Standard
Top Assembly N/A N/A
Strap Knob 950072-X-13 Strap Lock - Dual Design, Nickel

Rosette / Epaulets 801391-X Rosette - Old Style Balladeer Braided 
Rope Over Pearloid, Inlaid

Pre-amp Receptacle N/A None - Straight Acoustic
Pre-amp N/A None - Straight Acoustic

Bridge 910313-X Brazilian Rosewood Bridge Blank  

Saddle
Saddle (Bone)

930005-X
930021-X Saddle

Battery Cover N/A N/A
Shim 950003-X Shim
Neck Bolt, Neck Heel N/A None
Neck Bolt, Upper 
Neck Support Block N/A None

A

1

2

5

B

3

5

4

6

8

8

9



Model Specifications
K-1111

Bowl Bowl - Deep Non Cutaway Fiberglass
Bowl Paint Color Black Gloss
Brace Pattern 40th Anniversary X Brace
Fingerboard Radius 10’’
Fret Number & Size 20 Standard
Inlay Material & Pattern Inlay - Round Poly Iridescent, Large
Neck Construction 5 Piece, Wide Laminates
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Traditional Series
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pre-amp None - Straight Acoustic

Rosette / Epaulets Rosette - Old Style Balladeer Braided Rope Over 
Pearloid, Inlaid

Scale Length 25 1/4”
Top Material & Grade Spruce Bookset (Matched) “AA”
Truss Rod Adjustment 
Location Headstock



A

B

1

4

3

5

2

6

7

9

Service Parts Reference
K-1114

Neck Assembly N/A N/A

Machine Heads 850350-X-13    
MACHINE HEAD SET-HAUSER HNi2, 
Side Mount, Nickel w/ Acrylic Button & 
Bushing, 6 String  

Truss Rod Cover N/A N/A

String Nut 930019-X 12-String Blank Machined for 1.875” 6-
String

Fret Set N/A 18 Standard
Top & Bowl Assembly N/A N/A
Strap Knob 950072-X-13 Strap Lock - Dual Design, Nickel

Rosette / Epaulets 801390-X Rosette - Old Style Josh White & 
Folklore Oakleaf Over Pearloid, Inlaid

Pre-amp Receptacle N/A None - Straight Acoustic
Pre-amp N/A None - Straight Acoustic

Bridge 910313-X Brazilian Rosewood Bridge Blank  

Saddle
Saddle (Bone)

930005-X
930021-X Saddle

Battery Cover N/A N/A
Shim 950003-X Shim
Neck Bolt, Neck Heel N/A None
Neck Bolt, Upper Neck 
Support Block N/A None

A

1

2

5

B

3

5

4

6

8
8

9



Model Specifications
K-1114

Bowl Bowl - Deep Non Cutaway Fiberglass
Bowl Paint Color Black Gloss
Brace Pattern 40th Anniversary X Brace - Shifted for 12th Fret
Fingerboard Radius 10’’
Fret Number & Size 18 Standard
Inlay Material & Pattern Inlay - Round Poly Iridescent, Large
Neck Construction 5 Piece, Wide Laminates
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Folklore Shallow Neck Shape
Neck To Body Joint Location 12th Fret
Neck Width At Nut 1 7/8” (1.875”)
Peg head Angle 7 Degree
Pre-amp None - Straight Acoustic

Rosette / Epaulets Rosette - Old Style Josh White & Folklore Oakleaf 
Over Pearloid, Inlaid

Scale Length 25 1/4”
Top Material & Grade Spruce Bookset (Matched) “AA”
Truss Rod Adjustment Location Headstock



A

B

1

4

3

5

2

6

7

9

Service Parts Reference
U681C

Neck Assembly U681T-X-700 Adamas U681 Neck Assembly, deep

Machine Heads 850390-X-17    Machine Head Set - Side Mount, 
Gold w/ Ebony Buttons, Schaller

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 940527-X String Nut, Tusq, 1 3/4”

Fret Set 1998-X-690A 22 Standard Notched Fret Set, Elite 
6-String

Top & Bowl 
Assembly U681T-X-200 Adamas U681 Top & Bowl Assembly, 

deep
Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold

Rosette / Epaulets 800490-X       Epaulette Assembly, Elite, Non-
Cutaway

Pre-amp Receptacle 708924-X-CAN OP-PRO 1/4” Jack with XLR Can

Pre-amp 708924-X       OP-PRO Preamp Assembly w/ 1/4” 
Jack & XLR

Bridge 811151-X    Bridge - Full Size - Ebony, No Slot 
6-String 

Pickup Assy/
Saddle Only

704600-X
700714-X Saddle One-Piece A/E Classic 

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper 
Neck Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

A

1

2

5

B

3

5

4

6
8

9

6

7

8

8

10

10



Model Specifications
U681C

Bowl Paint Color Black Textured
Brace Pattern Brace Set - Adamas Non Cutaway     
Fingerboard Radius 10’’
Inlay Material & Pattern None
Neck Construction 5 Piece
Neck Finish Satin Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 12th Fret
Neck Width At Nut 1 3/4”
Peg head Angle 7 Degree
Pre-amp OP-PRO Preamp Assembly w/ 1/4” Jack & XLR
Rosette / Epaulets Epaulette Assembly, Elite, Non-Cutaway
Scale Length 25 1/4”

Top Material & Grade Adamas Uni Directional Textured, Birch Core, 
Top Blank

Truss Rod Adjustment Location Headstock



1

4
3

5

2

6

9

Service Parts Reference
VXT

Machine Heads 850310-X-15    Machine Head Set- Chrome w/ Ovation Logo 
Truss Rod Cover 910294-X Truss Rod Cover - Rosewood
String Nut 930061-X       String Nut - Tusq - 6 String     
Fret Set N/A 22 Frets
Strap Knob 950072-X-13 Strap Lock - Dual Design, Nickel
Washer 565111-X-00 Summit Rubber S.B. Washer
Magnetic Neck 
Pickup 708011-X-15 Seymour Duncan SH-1N, ‘59 Neck Chrome 

Covers
Magnetic Bridge 
Pickup 708660-X-15 Seymour Duncan SH-1B, ‘59 Bridge 

Chrome Covers
Pickup Surrounds 940449-X-00 DMIP 1300BKV 1/4” Surround
Pickup Surround 
Mounting Screw 526101-X-00 #2*1/2 Phil Flat A Type AB - BH, 1/4” P/U 

Mount Screw
Pickup Height 
Adjustment Screws 542703-X-00 Screw - #3*48*1 1/4” Phil Pan M/S - BH, 

H/B Height Adjustment Screw
Pickup Springs 950134-X H/B P/U Height Adjustment Spring
Preamp/Bridge 
Assy 708945-X VXT VIP Preamp Assembly, w/Fishman Power 

Bridge, Chrome with zinc diecast saddles
Knobs 940916-X-00 KB-160 Potentiometer Knob, Black
Output Jack Plate 950138-X-15 JCB-2C Football Jack, CH
Output Jack Plate 
Screws  524202-X #4 1/2 Phil Oval Hd Type A S/S Output 

Jack Plate Screw
Backplate (2) 950157-X-00 Backplate, VXT - Black

Backplate Screw 526701-X-00 #3*1/2 Phil Flat Head Type A/B - BH, Viper 
Backplate Screw

1

2

5

3

5

8

4

6

8

7a

8

9

11

10

10

7a

7b

7b

11



Model Specifications
VXT

Acoustic Pickup Location Bridge Saddles
Acoustic Pickup Type Fishman Power Bridge, Chrome with zinc diecast saddles
Brace Pattern None
Controls 1 Volume, 1 Tone, 1 Blend, 1 Three-way Toggle Switch
Fingerboard Radius 10’’
Fret Number & Size 22 Frets
Inlay Material & Pattern Inlay - Round Poly Iridescent, Large
Magnetic Pickup Location Neck and Bridge
Magnetic Pickup Types Seymour Duncan SH-1N, SH-1B ‘59 Neck Chrome Covers
Neck Construction 1 Piece
Neck Finish PPG3000
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Low Profile Round
Neck To Body Joint Location 16th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pickup Covers DMIP 1300BKV 1/4” Surround
Pre-amp VXT VIP Preamp Assembly, w/ Power Bridge
Rosette / Epaulets None
Scale Length 25 1/4”
Top Material & Grade Spruce Bookset “A” Grade
Truss Rod Adjustment Location Headstock



1

4
3

5

2

6

9

Service Parts Reference
VXT-’59F

Machine Heads 850310-X-15    Machine Head Set- Chrome w/ Ovation Logo 
Truss Rod Cover 910294-X Truss Rod Cover - Rosewood
String Nut 930061-X       String Nut - Tusq - 6 String     
Fret Set N/A 22 Frets
Strap Knob 950072-X-13    Strap Lock - Dual Design, Nickel
Washer 565111-X-00 Summit Rubber S.B. Washer

Magnetic Neck Pickup 708011-X-15 Seymour Duncan SH-1N, ‘59 Neck Chrome 
Covers

Magnetic Bridge Pickup 708660-X-15 Seymour Duncan SH-1B, ‘59 Bridge Chrome 
Covers

Pickup Surrounds 940449-X-00 DMIP 1300BKV 1/4” Surround
Pickup Surround 
Mounting Screw 526101-X-00 #2*1/2 Phil Flat A Type AB - BH, 1/4” P/U 

Mount Screw
Pickup Height 
Adjustment Screws 542703-X-00 Screw - #3*48*1 1/4” Phil Pan M/S - BH, H/B 

Height Adjustment Screw
Pickup Springs 950134-X H/B P/U Height Adjustment Spring
Preamp/Bridge Assy 708945-X VXT VIP Preamp Assembly, w/ Power Bridge
Knobs 940916-X-00 KB-160 Potentiometer Knob, Black
Output Jack Plate 950138-X-15 JCB-2C Football Jack, CH
Output Jack Plate 
Screws 524202-X #4 * 1/2 Phil Oval Hd Type A S/S Output Jack 

Plate Screw
Contrlol Cavity Back 
Plate 950157-X-00 Backplate, VXT - Black

Backplate 950157-A-00 Backplate, VXT - Black

Backplate Screw 526701-X-00 #3*1/2 Phil Flat Head Type A/B - BH, Viper 
Backplate Screw

1

2

5

3

5

4

6

8

8

9

11

10

8

7b

7a

7b

7a

10

11



Model Specifications
VXT-’59F

Acoustic Pickup Location Bridge Saddles
Acoustic Pickup Type Fishman Power Bridge, Chrome with zinc diecast saddles
Brace Pattern None
Controls 1 Volume, 1 Tone, 1 Blend, 1 Three-way Toggle Switch
Fingerboard Radius 10’’
Fret Number & Size 22 Frets
Inlay Material & Pattern MOP Dot Inlays, Masecraft
Magnetic Pickup Location Neck and Bridge
Magnetic Pickup Types Seymour Duncan SH-1N,  SH1-B ‘59 Neck Chrome Covers
Neck Construction 1 Piece
Neck Finish PPG3000
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Low Profile Round
Neck To Body Joint Location 16th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pickup Covers DMIP 1300BKV 1/4” Surround
Pre-amp VXT VIP Preamp Assembly, w/ Power Bridge
Rosette / Epaulets None
Scale Length 25 1/4”
Top Material & Grade 8/4 Curly Maple Blocks: AAA
Truss Rod Adjustment Location Headstock



Service Parts Reference
VXT-BSF

Machine Heads 850310-X-15    Machine Head Set- Chrome w/ Ovation Logo 
Truss Rod Cover 910294-X Truss Rod Cover - Rosewood
String Nut 930061-X       String Nut - Tusq - 6 String     
Fret Set N/A 22 Frets
Strap Knob 950072-X-13    Strap Lock - Dual Design, Nickel
Washer 565111-X-00 Summit Rubber S.B. Washer
Magnetic Neck Pickup 708011-X-15 Seymour Duncan SH-1N, ‘59 Neck Chrome Covers
Magnetic Bridge Pickup 708660-X-15 Seymour Duncan SH-1B, ‘59 Bridge Chrome Covers
Pickup Surrounds 940449-X-00 DMIP 1300BKV 1/4” Surround
Pickup Surround 
Mounting Screw 526101-X-00 #2*1/2 Phil Flat A Type AB - BH, 1/4” P/U Mount 

Screw
Pickup Height Adjustment 
Screws 542703-X-00 Screw - #3*48*1 1/4” Phil Pan M/S - BH, H/B Height 

Adjustment Screw
Pickup Springs 950134-X H/B P/U Height Adjustment Spring
Preamp/Bridge Assy 708945-X VXT VIP Preamp Assembly, w/ Power Bridge
Knobs 940916-X-00 KB-160 Potentiometer Knob, Black
Output Jack Plate 950138-X-15 JCB-2C Football Jack, CH

Output Jack Plate Screws 524202-X #4 * 1/2 Phil Oval Hd Type A S/S Output Jack Plate 
Screw

Contrlol Cavity Back Plate 950157-X-00 Backplate, VXT - Black
Backplate 950157-X-00 Backplate, VXT - Black

Backplate Screw 526701-X-00 #3*1/2 Phil Flat Head Type A/B - BH, Viper 
Backplate Screw

String Anchor Grommets 950082-X-15 String Anchor Grommets, Chrome

1

2

5

3

5

4

8

9

8

1

4
3

5

2

6

9

8

10

7b
7a

11

6

11

7b

7a

10



Model Specifications
VXT-BSF

Acoustic Pickup Location Bridge Saddles
Acoustic Pickup Type Fishman Power Bridge, Chrome with zinc diecast saddles
Brace Pattern None
Controls 1 Volume, 1 Tone, 1 Blend, 1 Three-way Toggle Switch
Fingerboard Radius 10’’
Fret Number & Size 22 Frets
Inlay Material & Pattern MOP Dot Inlays, Masecraft
Magnetic Pickup Location Neck and Bridge
Magnetic Pickup Types Seymour Duncan SH-1N,  SH1-B ‘59 Neck Chrome Covers
Neck Construction 1 Piece
Neck Finish PPG3000
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Low Profile Round
Neck To Body Joint Location 16th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pickup Covers DMIP 1300BKV 1/4” Surround
Pre-amp VXT VIP Preamp Assembly, w/ Power Bridge
Rosette / Epaulets None
Scale Length 25 1/4”
Top Material & Grade 8/4 Curly Maple Blocks: AAA
Truss Rod Adjustment Location Headstock



1

4
3

5

2

6
7a

9

Service Parts Reference
VXTS

Machine Heads 850310-X-15    Machine Head Set- Chrome w/ Ovation Logo 
Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930067-X-00    String Nut, 6-String 1 11/16”, Black Graph Tech 
Fret Set N/A 22 Frets
Strap Knob 950072-X-13    Strap Lock - Dual Design, Nickel
Washer 565111-X-00 Summit Rubber S.B. Washer
Magnetic Neck Pickup  708120-X-00 Seymour Duncan SP90-1N, P90
Magnetic Bridge Pickup 708130-X-00 Seymour Duncan SP90-1B, P90
Pickup Surrounds 940446-X-00 Cover, P90, Black
Pickup Surround 
Mounting Screw 526101-X-00 #2*1/2 Phil Flat A Type AB - BH, 1/4” P/U Mount 

Screw
Pickup Height 
Adjustment Screws 506201-X-00    Screw-#4 X 1-5/8”, Phillips Flat Head Steel Wood 

Screw, Black. P-90s

Pickup Springs 950098-X Spring-P-90 Height Adjustment .210 X .750” - .028” 
diameter MW Compression

Preamp/Bridge Assy 708945-X VXT VIP Preamp Assembly, w/ Power Bridge
Knobs 940916-X-00 KB-160 Potentiometer Knob, Black
Output Jack Plate 950138-X-15 JCB-2C Football Jack, CH
Output Jack Plate 
Screws 524202-X #4 * 1/2 Phil Oval Hd Type A S/S Output Jack Plate 

Screw
Contrlol Cavity Back 
Plate 950157-X-00 Backplate, VXT - Black

Backplate 950157-X-00 Backplate, VXT - Black

Backplate Screw 526701-X-00 #3*1/2 Phil Flat Head Type A/B - BH, Viper Backplate 
Screw

String Anchor Grommets 950082-X-15 String Anchor Grommets, Chrome

1

2

5

3

5

4

8

8

9

10

8

6

11

7b

7a

10

7b

11



Model Specifications
VXTS

Acoustic Pickup Location Bridge Saddles
Acoustic Pickup Type Fishman Power Bridge, Chrome with zinc diecast saddles
Brace Pattern None
Controls 1 Volume, 1 Tone, 1 Blend, 1 Three-way Toggle Switch
Fingerboard Radius 10’’
Fret Number & Size 22 Frets
Inlay Material & Pattern None
Magnetic Pickup Location Neck and Bridge
Magnetic Pickup Types Seymour Duncan SP90-1N, P90; SP90-1B, P90
Neck Construction 1 Piece
Neck Finish Conversion Varnish
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Low Profile Round
Neck To Body Joint Location 16th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pickup Covers Cover, P90, Black
Pre-amp VXT VIP Preamp Assembly, w/ Power Bridge
Rosette / Epaulets None
Scale Length 25 1/4”
Top Material & Grade Poplar, 10/4, 8” & Wider
Truss Rod Adjustment Location Headstock



A

B

1

4

3

5

2

6
7

9

Service Parts Reference
W597

A

1

2

5

B

3

5

4

6
8

9

6

7

8

8

10

10

Neck Assembly W597-X-700 Adamas CVT Neck Assembly, mid 
depth

Machine Heads 850470-X-17    Machine Head Set - Gold w/ Pearl 
Buttons w/ Ovation Logo

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930061-X       String Nut - Tusq - 6 String     
Fret Set 1998-X-690A 22 Standard Notched Fret Set, Elite 6-String

Top & Bowl Assembly W597-X-200 Adamas CVT Top & Bowl Assembly, 
mid depth

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 800580-X       Epaulette Assembly, Cutaway
Pre-amp Receptacle 708942-X VIP Receptacle Assembly
Pre-amp 708939-X VIP Preamp Module, Complete

Bridge 811151-X    Bridge - Full Size - Ebony, No Slot 6-
String 

Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic   

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper Neck 
Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     



Model Specifications
W597

Bowl Paint Color Black Textured
Brace Pattern Brace Set - Adamas Cutaway       
Fingerboard Radius 10’’
Inlay Material & Pattern None
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pre-amp VIP Preamp Module, Complete
Rosette / Epaulets Epaulette Assembly, Cutaway
Scale Length 25 1/4”

Top Material & Grade Adamas 2 * 2 Twill, Textured, Poplar Core, 
Top Blank, From Adamas Cost Sheets              

Truss Rod Adjustment Location Headstock



A

B

1

4

3

5

2

6

7

9

Service Parts Reference
W597MEII

A

1

5

B

3

4

8

9

6

7

8

Neck Assembly W597MEII-X-700 Adamas MEII Neck Assembly, 
mid depth

Machine Heads 850310-X-17    Machine Head Set - Gold w/ 
Ovation Logo

Truss Rod Cover N/A None
String Nut 930061-X       String Nut - Tusq - 6 String     

Fret Set 1998-X-690A 22 Standard Notched Fret Set, 
Elite 6-String

Top & Bowl Assembly W597MEII-X-200 Adamas MEII Top & Bowl 
Assembly, mid depth

Strap Knob 950072-X-00 Strap Lock - Dual Design, Black
Rosette / Epaulets 800580-X       Epaulette Assembly, Cutaway
Pre-amp Receptacle 708922-X-CAN OP-PRO 1/4” Jack Can

Pre-amp 708922-X       OP-PRO Preamp Assembly w/ 
1/4” Jack

Bridge 811151-X    Bridge - Full Size - Ebony, No Slot 
6-String 

Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic   

Battery Cover N/A N/A
Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper Neck 
Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     

2

7
4



Model Specifications
W597MEII

Bowl Paint Color Black Textured
Brace Pattern Brace Set - Adamas Cutaway       
Fingerboard Radius 10’’
Inlay Material & Pattern None
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Kaman Bar, Deep Heel       
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 11/16”
Peg head Angle 10 Degree
Pre-amp OP-PRO Preamp Assembly w/ 1/4” Jack
Rosette / Epaulets Epaulette Assembly, Cutaway
Scale Length 25 1/4”

Top Material & Grade Adamas 2 * 2 Twill, Textured, Poplar Core, Top Blank, 
From Adamas Cost Sheets              

Truss Rod Adjustment Location Neck Tenon



A

B

1

4

3

5

2

6
7

9

Service Parts Reference
W598

A

1

2

5

B

3

5

4

68

9

6

7
8

8

10

10

Neck Assembly W598-X-700 Adamas CVT 12-String Neck 
Assembly, mid depth

Machine Heads 850480-X-17    Machine Head Set, 12 String 
- Minis - Gold w/ Pearl Buttons

Truss Rod Cover 910293-X Truss Rod Cover - Ebony
String Nut 930062-X String Nut - Tusq - 12 String

Fret Set 1858-X-690B 22 Standard Notched Fret Set, 
Elite 12-String

Top & Bowl Assembly W598-X-200 Adamas 12-String CVT Top & 
Bowl Assembly, mid depth

Strap Knob 950072-X-17 Strap Lock - Dual Design, Gold
Rosette / Epaulets 800580-X       Epaulette Assembly, Cutaway
Pre-amp Receptacle 708942-X VIP Receptacle Assembly
Pre-amp 708939-X VIP Preamp Module, Complete

Bridge 811161-X   Full Size - Ebony, No Slot 12-
String 

Pickup Assy/
Saddle Only

704600-X
700714-X-19 Saddle One-Piece A/E Classic   

Shim 930070-X Shim - OCP-6 Pickup, 1.00mm
Battery Cover N/A N/A
Neck Bolt, Neck Heel 547601-X-00    Screw, Cap - 1/4-20 X 1-5/16   
Neck Bolt, Upper Neck 
Support Block 547602-X-00    Screw, Cap - 1/4-20 X 3/4     



Model Specifications
W598

Bowl Paint Color Black Textured
Brace Pattern Brace Set - Adamas Cutaway       
Fingerboard Radius 10’’
Inlay Material & Pattern None
Neck Construction 5 Piece
Neck Finish Gloss Urethane
Neck Reinforcement Tension Rod - ANS Dual Acting
Neck Shape Ovation LX Soft V Shape
Neck To Body Joint Location 14th Fret
Neck Width At Nut 1 7/8”
Peg head Angle 10 Degree
Pre-amp VIP Preamp Module, Complete
Rosette / Epaulets Epaulette Assembly, Cutaway
Scale Length 25 1/4”

Top Material & Grade Adamas 2 * 2 Twill, Textured, Poplar Core, Top 
Blank             

Truss Rod Adjustment Location Headstock


